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QUESTION 1

With which data center type can a company lease the equipment and infrastructure?
A. Managed services data center

B. Colocation data center

C. Green technology data center

D. Enterprise data center

Correct Answer: A

QUESTION 2
DRAG DROP

Refer to the exhibit. Match the Fault Icons to the appropriate description.
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Problems exist with one or more components that might
@ adversely affect system performance. These issues should
be researched and fixed as soon as possible before they
become major or critical issues.

Potential problems exist with one or more components that

e might adversely affect system performance if they are
allowed to continue. These issues should be researched and

fixed as soon as possible before the problem grows worse.

Critical problems exist with one or more components.
These issues should be researched and fixed immediately.

Serious problems exist with one or more components.
@ These issues should be researched and fixed immediately.

Correct Answer:

Problems exist with one or more components that might
adversely affect system performance. These issues should
be researched and fixed as soon as possible before they
become major or critical issues.

m—— Potential problems exist with one or more components that
0 might adversely affect system performance if they are
allowed to continue. These issues should be researched and
fixed as soon as possible before the problem grows worse.

Critical problems exist with one or more components.
@ These issues should be researched and fixed immediately.

Serious problems exist with one or more components.
e These issues should be researched and fixed immediately.

Reference: https://www.cisco.com/en/US/docs/unified_computing/ucs/sw/gui/config/guide/141/UCSM_GUI_Configuratio
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QUESTION 3

Which two statements about Cisco UCS S3260 Storage Server are true? (Choose two.)
A. AMD EPYC 7000 series processors, with up to 32 cores per socket

B. Up to 1 TB of Intel Optane DC Persistent Memory

C. Itis in a compact 2-RU form factor.

D. Support for the Cisco 12-G 9460-8i PCle SAS RAID controller

E. Massive 840-TB data storage capacity

Correct Answer: DE

Reference: https://www.cisco.com/c/dam/en/us/products/collateral/servers-unified-computing/ucs-s-series-storage-

servers/s3260-specsheet.pdf

QUESTION 4
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Refer to the exhibit. Which two faults can occur if the System Health LED is in a steady amber state? (Choose two.)

A. At least one DIMM is faulty.
B. Major fault with CPU
C. Major fault with the system board D. CPU mismatch

E. Major fault with memory DIMM
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Correct Answer: AD

https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/c/hw/C220M5/install/C220M5/C220M5_chapter_010.html
#concept_x3p_4cj_mz

System health

Green—The server is running in normal operating condition.

Green, blinking—The server is performing system initialization and memory check.
Amber, steady—The server is in a degraded operational state (minor fault). For example:
Power supply redundancy is lost.

CPUs are mismatched.

At least one CPU is faulty.

At least one DIMM is faulty.

At least one drive in a RAID configuration failed.

QUESTION 5

Which Cisco NX-OS command displays kernel uptime?
A. show module

B. show version

C. show license

D. show boot

E. show interface

Correct Answer: B
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